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1 I L

(2)y=m Dllj.r+1—y,x—y 1

AR R y = i —1 (2 0), 0 1-2 FiF.

v

/l 2
/0
/ _1-x
P y

/ y=1-3x

B o1-1

H 12

B y=~1—2 y¥=1—zlat=1—y,z=+~1— 3
AR A y =+ ~1—2° (x> 0),10E 1-3 FfR.
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(4) y = cosx M| x = arccosy

it AR B ¥R y = arccosz, M 1-4 B 7.

B’ 1-3 B 1-4

LV 5 + 3R B Y I R R, B AR 9B A B Y S S L 48 I 0 8 R L R R Y (I
e .

=N %

RPHMERSTFHFIREL REEAMSZ — X —F . RINE[EI TREBE R
B AR

1. REHE I E X X R (RPRR) REHHH I EEZE K.

(1) RBE P REEN— QR XX WRETXRZHN RITELH
B, RBOR— 5 Al A XR , B g X, A RER 2 — TR

(2) R¥E NER B X BB ENEUE (ERNMEEN . REEREWRESZ Y.
HERERY GBI, RPUE—EHEE LS, B f(2) = C(C AHHO LRR—IEH.

Q) BEXHRREESH A —EEZNF . ERH THREAEZE W AT RHBELR. R
{7 RE 2 S 2 42 5K R B SR 77 %

(4) WA REINREAN1H BB R GRS R ) FE SCOSEAR R , NX P A KPR A E Y .

2. BFA)EH RRTERAEE 8 LI 2 FE LR R, L AR BEREEN,
AT ¥ A EHEAFARRBIME T

3. EERBERAR - LFHREHEARRNMARNWES  REHE S RUTBR
HTEARVFRE.

4. X —FH, NEBFEELS G AT M B E R %57 55 8 A 05 i, SR X
— I E R R B B AR

Mm.B W &

1. BaxE T3 bR BHy & S
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¢13 i = e — 1 (2) =

lz| — =
2. HWr T RBAN S KB RTRME R, FHAES.
(1)f(x) = cosx g(x) = /1 — sin’z
(D f(z) = Vz(z + 2) g@) =~z +Nz+2
3. HWF T RB A A B

Wf @ =12 @) f(x) = 2%
4. EEE LM XEHES .,
(a)(— oo, + o) (b (0, + o)
() (— ©0,0) @(— 1,
D) BYSf@)=1—22F LR 0
@ wH @ = (1] % SRS
G EHf@)=1—z & BRI
5. By =@ =172 Ma=fTW=C  y=,r@ =
y = f(z) B & S ERE( ),y = f(x) HEBREC(
1 1
6-%f(r)=1T:C.F(x)=m.mﬂf[F(x)]=( ), F[f(2)] = (

7. BH f(x) = Inz,RiE f(x) + f( + 1) = fle(z+ 1],

8. E¥ y = arctg (2% + 1)ex oy PR T & T R A2
e <0

9. BHEERY f(2) = % =0

Inr >0
) & f(x) EE
(2) 3R f(— D.fO.fQ) WfE

)



